-Fﬁ#iiugayj (’\y F,bmﬂ) HOLD DOWN ACTION

Hold down clamp (Vertical handle)

W 73V RIVEEY

Hold down clamp (Vertical handle)

DO

No.41BX

<
3.0kN (300kef) i
ELT - o< S
M10X100
I
~

HH waterials AF = (Steel)
75 Y ~N—2 (Flange base)

#JL b (Hex Head BoltlM10%100 12k
Fu b (Nut) 2/8/E2 (Washer) 24

No.41BS/\ s o [

M6X50

(213)

2.0kN (200kgf)
395g

HANDLE MOVE 64"
A MOVE 110°

k3 br
Bl 5

AF = (Steel) CﬁL
A kL —k~N—X (Straight base) 4-06.2
#Jb + (Hex Head Bolt) M6X50 14 72 33

Fu b (Nut) 2{8/EE£ (Washer) 241

No.41BSth mm

3.0kMN (300kgf)
ght 1,395¢g

HANDLE MOVE 67"
A MOV 140°

AF - (Steel)
Mounting method Abl—b~N—=2 (Straight base)

#IL b (Hex Head Bolt) M10%90 14
Fw bk (Nut) 2{8/EE2 (Washer) 24




